ame: er“} Class: Date: ID: A
T
mndations and Pre-Calculus 10 Chapter 5 \ ZA aie .

1. Consider the relation represented by this arrow diagram. Represent the relation as a set of ordered pairs.

is the number of

p_p__g__, | LZ 3 House P)CH rrose Q),
(1 Poose )5 Yoose 5}

2. Capital cities can be associated with the province or territory they are in.

Capital City | Province/Territory

Victoria British Columbia
Edmonton Alberta
Regina Saskatchewan

Winnipeg Manitoba
Whitehorse | Yukon

, Yellowknife { Northwest Territories
Iqaluit Nunavut

Describe this relation in words.
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3. Consider the relation represented by this graph. Represent the relation as a table.
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4. 'Which set of ordered pairs does not represent a function?
(Das) (o). (e)an) & nomver D W Yhe Lrx sk

ii){(4,6),(5,—7),(7,9),(8,—10)} oK dements 1 asseciated
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5 This table shows the cost, C dollars, of different numbers of tickets sold, 7. Identify the range.

Number of Tickets, | Cost, C
i % /\Zax\o\e_f- 12.50, 2500 ,>1.50,
§ Frc " 500, ca50-: )
— ccan cadinon e e

(po\d e mole Fcketrs

6. For the function f{x) =—2x WZ). s ld.
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7. Write y = 10x — 10 in function notation.

{(x)- 1ox-10

8. Write h(x) =—3x +2 as an equation in two variables.

h: ”5)( 2

9. For the functiea’g(x) = 2x — 9, determine x wher (x) =-13.

Qey=2x=1 HeRx x-o9

>
~12 = QX/-Z‘ 2 ;
1 T 2= X

10. Identify the independent variable and the dependent variable for this table of values.

Hours Worked, | Gross Pay, P
h (%)
4 38.00
5 47.50
9 85.50
- 20 190.00
30 285.00

\n&g()ef\c\_an\— Jafnable = Fours worksd ,Q’)}
Degendent Janaple = Gross PQ3 P ()
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11. Joshua went on a bike ride. For part of the ride, Joshua stopped to play in a park with a friend. Which

12.

segment of the graph best describes this part of his bike ride?

Joshua's Bike Ride
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This graph shows the free-fall speed of a skydiver as a function of time. At what speed was the skydiver
travelling 10 s before she reached the ground?

160 1

Free-Fall Speed of a Skydiver
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14. This graph shows the masses of people, m, as a function of age, a. Determine the range of the graph.
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15. Determine the domain and range of the graph of this function.

s D’_‘)ﬂ\ﬁ:\f\: »Xé"L‘
s Range = 35- d

N
|

o W

16. This is 2 graph of the function f{x) = —2x — 4. Determine the domain value when the range value is —2.
Vange Domguin

) ks Q (x\= -2x -4 |
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17.  This graph represents a 150-L hot-water tank being filled at a constant rate. Determine the rate of change of
the relation.

= 150~ 75
175 v Filling a Hot-Water Tank -RQAQ- o{ C)\Qhﬁe =
150 | a5 (0. o) ' ' 50 - 25
2125 AL .
£ 100 l ] __' lf)
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18. _Which set of ordered pairs-tepresents a linear relation?

@4/95)\(5/)%%7/;& ),(8, 1 } Both dbmo(m‘t. rQ\\cl_e Nme a consshant Clnarﬁe_ .
LCACA Domain 1 Rarge -3

)

4 23

X iD46.8.6.10,0,12, 13,0, 14} \

xiii){(—l,l),(0,0),(l, 1),(2,4),(3,9)} Either domain or rarqe does,
, 925/\-10 v nwt haote a Constant

i) {( 6),(125), 07, 4,013, 3),(4,2)} (ate of charge

19. The graph shows the speed of a windsurfer as a function of time.

Speed of a Windsurfer
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a) For how long did the windsurfer travel at a speed of 45 km/h?
The Lo“\né_%u({-er Aavellad of  Ihe feeed ok qcovr,/h
for Ys.

b) How long did the windsurfer’s ride last?

The wwndsofers rde \asted _F( 0s .
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20. Explain why the points on this graph are not joined. |

- \
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21. Determine the rate of change and the vertical intercept of this graph.
ind.vanadie QD
y
| Jeckical \ndercept=~ 3 !
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Vertica\ ndercept = 2
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22. This graph shows the distance, d kilometres, from Beij ing, China, to Edmonton, Alberta, as a function of

flying time, ¢ hours. \“ AQ?PJ\ don¥ Variaole = 12-0

9500 d  Flight from Beijing to Edmonton\J - p h(
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a) Determine the vertical and horizontal intercepts. Describe what the points of intersection represent.

N

vectical \V\\ch_-ep-)-: JooO -2 ¥ e 5*6(-}. of the 00, the d.,ishnce
Yorizontal ‘Wercept- \Q from 660'«\0‘ Yo Edmanton is Jookm.

b W+ dakes ogrox. s 0 fl~1 from Bei\gir\n)h) Sdnanin .
/%

b) Determine the rate of change. What does it represent?

' 9000 — —T50 tmfh (¥nes F=el
Y code of c)\m\s:lf. = ﬁéﬁ- :’:{f = 5 / nr:—.iposs.bk)
' 2

The (ade drarge. - e <o the digtance 5 Qecreasing with Hime .

¢) Write the domain and range? c 3 V\.bo(’. Ane Aistance to Edamandon s eas e
Dorain= 0 £ x4£12 e i OFOX . TBOkm
Parqe- O£ Y& o0 = \ o€ 2 :j /a

0L AdLtq9o
d) What is the distance to Edmonton when the plane has been flying for 5 h?

ax 5 hovso , the distance ¥ Edmandon //(_)

Wi\ e a@iox . H350 km -
9




